[a.u.]

T,Soft

dN/dA{rm p}

Ratio to CMS

N
N

N

=
o

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

Rivet 3.1.10, = 1.8M events

13000 GeV pp Jets
i | : | : | : | : | : | : | | : | ]
o Dijet p_ balance (CMS 4-jets) .
— m CMS _
— --O-- Herwig++ 2.7.1 default ]
—  --H3-- Herwig 7.2.1 default 7
— —— Pythia 8.308 default ]
— - ¥-- Pythia 8.308 vincia-default ]
o ¢ Sherpa 2.2.9 default s
N | | | L | | L N
:l T T T T | T T T T |:
- T oo ]
- e = b ARkt by —
- M S

| 1 1 1 1 " | " 1 1 1 1 |

0 0.5 1

A{rm p}T,Soft

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


